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TYPE-I

What angle 1s made by minute
hand in 29 sec.?

fome =1 §¢ g0 29 ¥Fve | aqrn m
U P B

(a) 1740° (b) 2.9°

(c) 29° (d) 260°

What angle is made by hour
hand in 36 sec?

e ® g 5 36 WHUS H FRN T
FUT 1 B
(a) 120° (b) 3°

3 J” 10J°
(c) [ﬁ (d) [?
What angle is made by minute
hand in 59 sec ?
=t #1 fe g€ g 59 ¥Fs H A
0T FAT B
(a)6” (b) 5°
(c) 5.9° (d) 4.9°
What angle is made by second
hand in 15 sec.?

w2t #1 fie 9 98 50 15 9% |
FAET RO F BENY

(a) 15° {b) 1.5%

1 u o
(c) [g] (d) 90

TYPE -11

What time is shown by the Iﬁf:-
ror if the real time is 9 25‘ Nl
aft arfas 'cﬁ\“éthﬂ
wiafaa & s a9y
(a)3: 33 [(‘@r@ 33
(c)3:27 (@2 : 23
Time appgars itf the mirror 11
: 09. T'éﬁ-m%lt time will be
appear in‘clock?
7fg Tdv ufafss & ¥79 11:09 & &
v § F wma fEE wem?
(@)1:51 (b) 12 : 09
(c)12: 51 (d)1

Time appears in the mirror 6 :
00. Then what is the correct
time in clock?

afy <dor wfafsia § 593 6 : 00 & 1 =t
o 70 g feEs ugm?

z EXERCISE — | é

10.

: i I

13.

14.

at what time will appear in wa-
ter?

7fg a5 F WA 9 : 11 1 Sa wfafam
o g F Em?

(a)9: 19 (b)8:11

(c)8: 19 (d)9 : 30

If ime in a clock is 8 : 52, then at
what time will appear in water?

Afs a=t ¥ ¥ 8 : 52 11 S| Wfafam
4 ggg = Bm?

(a)8 : 38 9: 52
(c)8: 22 xﬁgzas
ﬁwmj{v

What g;(a 1s made by minute
and’ hqal} hand at 4 : 12?

wm@iaéﬁgéamar 12 97 faham

(a)5: 58 (b)6: 60

(c) 6 : 00 (d)6: 01

If reflecting time is 3 : 43 then

the real time of clock is?

afc wafda @9 3 : 43 @ wef #=  15.

arafa® w9 1 B

(@)3: 17 (b) 7 : 17

(c)8:17 (d) 8:43

If the time in clock is 12 : 23.

What is the time in the mir-

ror?

afs w7 anafas W 12:23 A 16,

qu wfafas & w9 0 BEm?

(a)12 : 33 (b) 11 : 37

(c) 12 : 37 (d)1:23

TYPE - . A2

Time in a clock is 3 : 13, hat J17.

time will be appear in w, e:ﬁ}

afc vt § wwg 3: 13 @ A aag%ﬁﬁ

q gum 1 gm? N

(a)3 : b) 2

(c)3: 23 /L

Time ap pﬁ's\,ml water is 5 : 47, 18.

what 1\9‘5 correct time in

watehl}

Fergfatara § W 5 : 47 § @ At
(“WW Bm?
CQRy12: 47 (b) 12 : 43

()1 :47 (d)1:43 19.
. Water image of a clock is show-

ing time 4 : 42 what is the real

time?

T2 % ol Wiaew 1 A 40 42 7 Al

qrEfas WEA F B

(a)1:48 (b)2: 48 20.

(c) 12 : 48 (d) 12 : 42

If time in a clock is 7 : 35 then

at what time will be appear in

water?

Afe w2t § §9a 7 : 35 %1 |l 5l § 99

F B 21.

(a)11: 35 (b) 10 : 35

(c) 10 : 05 (d) 10 : 55

If time in a clock is 9 : 11, then
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4) 66°

ST
(b) 44°
(c) 54° (d) 60.5°

What is the angle between
minute and hour hand at 9 : 337

e AR = # g & &9 9 : 53 =
R0 FAT B

(a) 121.5° (b) 21.5°

(c) 130° (d) 68.5°

What is the angle between
minute and hour hand at 12 : 46?7
firte &R =5 &1 g€ % o9 12: 46 5=
T F FAT B

(a)97° (b) 107°

(c) 153° (d) 7°

What is the angle between
minute and hour hand at 7 : 09?
e 3R 52 = g€ & o= 7 : 09 W
T RO FA WL

(a) 120.5° (b) 160.5°

(c) 49.5° (d) 19.5°

What is the angle between
minute and hour hand at 11 : 10?

fre R A g & @9 11: 10+
T F FAT B

(a) 265° (b) 175°

(c) 85° (d) 95°

What is the angle between
minute and hour hand at 3 : 567
fiie AR W # g€ & o9 3 : 56 99
A H FN B
(a) 152°

(c) 360°

(b) 228°
(d) 142°
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22. What is the angle between

minute and hour hand at 12 : 20?

fe si e =t g & o9 12 : 20 99
A FHIU N EANY

(a) 260° (b) 110°
(c) 120° (d) 20° 27.
TYPE -V

23. At what time between 6 to 7 O’

clock minute and hour hand

will coincide?

HE 1 69 7% 94 farad w91 =2 oI fiFe

F YL TF T FH SO AT WO

. 2 . 7
[a]6.383 [h]6.43ﬁ
8 5

[c]6:32ﬁ [d]G:SH 8.
24. At what time between 10 to 11

O’ clock minute and hour hand

will coincide or makes 0°

angle?

W A 109 11 & o9 e =o =2

AR e #1 9 uF @ & W A+

AT e qer 0° 1 FHIOT A 82

7 2
(2)10: 4377 (b)10:38 7
6 10 29.
(c) 10 : 541—1~ (d) 10 : IOH

. apaft 7;minutes to each other?
25. At what time between 2 to 3 O’ . R N
clock minute and hour hand ?@T{ﬁ»& 3R 9 % i fort m_e'ﬁ-{
will be at right angle to each _¢~["a&/'® ¥ Th W & 7 fre ¢ a2
other or makes 90° angle C (:\ 3
o § 2 @R 3 % 99 g gy ue g (2)8:42,8: 51~
- . N\~ 1
fae =1 |1 90° 1 Fl KA
~ 3
3 A (b)8:36,8: 510
[a]2:32ﬁ [b]2(‘27}—1
o)~ (c)8:09, 8:47 a
10 ./ 4 cje Vs, oAl Ty
(c)2: 10— »ff;z;: 16— L
T ¢ 11 .
26. At what.fime hetween 6 to 7 O’ @)8:17,8: 287 33.
clock mirﬁlte and hour hand
will be at right angle or makes TYPE -VI
80" pumer 30. The minute hand of a clock
; . ] e minute hand of a cloc
T H 6 afn '.731' rer forw e v overtakes the hour hand at in-
o i gEA 90° F1 FH0T A tervals of 64 minutes of correct
7 time. How much a day does the
(a)6 : 38ﬁ , 6 43E clock gain or lose?
e et e areft g = areft g i
7 1 64 e & 3iaue W IR Fd 8 d |
b)6:43—,6:49— : .
11 11 & o =€ fwa 9w A1 9 gei?
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4
: 16—

1
(c)6:49—, 6 i

11

16i 6 54E

s R 11

At what time between 3 to 4 O’
clock minute and hour hand are
opposite to each other?

wE A 39 4% &= q fHa e "
3R e #1 ggal uw g & fauwda
180° &1 U FARA?

(d) 6 :

31.
3.43-%  m)3:382>
(a)3: 11 (b) 3: T
3.490L  @3:.542
SRR T LT

When did the minute and hour
hand makes 180° angle be-
tween 6 to 7 O’ clock?

oG H 6 3R 7 F 99§ A a9 W
s e = g o g @ feria, L

-.\“)
L

180° &1 v FAERM? }“{fj-i
. S
(@)6: 54—  (b) 6 60
11 /)__D%J}
(c)6: 00 h‘{/;djzﬁ“:Sﬁ

G
At what}iﬁﬁé\;bétween 8 to 9 O

clock the :}j?iﬁute and hour will
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32.

9
(a) 43ﬁ minute loss
8 ;
[b}SQﬂ minute gain

9
(c) 33ﬁ minute gain

8
32 — minute loss

(d) 327

The minute hand of a clock
overtakes the hour hand at in-
tervals of 66 minute of correct
time. How mucliia day does the
clock ga}\ix{)gﬁl\s\}fsﬁ?

T T IR ¢ = et g
66(FFR, & FHTUE T AR A ¢ A R
O

Nd) 11

109 _
121 minute gain

109
1 —— minute loss

(b) 1 121

117

(c) 11—121

minute gain

117 _
11 —- minute loss

121

A clock is set right at 8 a.m. on
sunday. It gains 8 minutes in
24 houus. What is the correct
time when the clock indicates
9 p.m. on upcoming sunday?
TF WEl F fIER gaE 8 A9 W U
o S 21 7 24 2 H 8 fire 4w
W 21 SE A Al WEER & T 9 9
F HHT SMG?

(a)9 P.M (b)8: 30 P.M
(c)8 P.M (d) 10 P.M

A clock is set right at 10 A.M
on sunday. It loses 8 minutes
in 24 hours. What is the cor-
rect time when the clock indi-
cates 9 P.M on next sunday?
TF uS H dgEn gaE 10 96 W g
foRan Sl 21 4w 24 W 8 fe +fidt
21 St 21 =t sprel feEn & ufy 9 = s
F ardids T S92

(a)9 P.M (b)9 AM

(c) 10 AM (d) 10 P.M

(d)
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34. A
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watch which gains
uniformaly is 4 minute slow at
9 A.M on Sunday, and is 4
minute 15 sec. fast at 9 P.M on
upcoming Friday. When was it
correct?

TF T S T w9 Y A el ¢ faan
HE 9.00 7 4 e gw & Wl @
J0 AW A YHAR T@ 9.00 = 4
e 15 9%vs o9 o Wil 81 59 Hel

(b)
(c)
(c)
(d)

(b) 9.
(c)
(c) 11,
(c)

st [
= L

By looking in a mirror it ap-
pears that it is 6 : 30 in the
clock. What is the real time?
o1 ¥ @R W o ® % S 6:30
=31l @ 81 W= = At g 6wy ?
(a)6: 30 (b) 5 : 30
(c)6: 00 (d)S: 00

(SSC 31.07.2005)
After 9’0 clock at what time
between 9 p.m and 10 p.m will

the hour and minute hands of a
clock point in opposite dlrect:on"

o ardfas 999 F4 390 o7
(a)2 A.M Thursday

(b) & P.M Wednesday

(c) 1 A.M Wednesday

(d) & P.M

35. A watch which loses uniformaly
is 3 minute fast at 6 A.M on
Thursday and is 3 minute 12
sec. slow at 5 P.M on upcoming
wednesday. When was it correct?

ANSWER KEYS
(Exercise- 1)

13. (d) 17. (b) 21. (d) 25.

14. (c) 18. (b) 22. (b) 26.

15. (d) 19. (b) 23. (o) 27,

16. (c) 20. (c) 24. (c) 28.

EXERCISE

_PREVIOUS YEAR QUESTIONS

4.
C

{

Qaﬁﬁwmgaﬁmm{ﬁ}g)

a9 % 99 fFg g woEe %W
ﬁﬁaﬁﬁﬁg’éﬁqﬂﬁﬁmn

(a) 15 minutes past

(b) 16 minutes s(: =
4 J

(€) 167 }inu!eg\past 9

1 i
(d) 17ﬁ minutes past 9

(SSC CGL 19.06.2011 )
At what time are the hand of
clocks together between 6 and 7?
67T 7 TS & A9 R T W HE |
e At g wwarr &ni?

3
()32 7~

11 minutes past 6

5;

b

8
(b) 34 — minutes pp.st 6_&:'/
11 _}
)

(c) 30— mu?sojp‘aﬁt 6
(d) 32 _}Y}tes past 6

(jg) (SSC CGL26.06.2011)

clock only with only dots

arking 3, 6, 9 and 12 posi-
ions has been kept upside
down in front of mirror. A per-
son reads the time in the re-
flection of the clock as 4.50.
What is the actual time?

o e d 3, 6, 4,9, 12 W fag sifea
& au1 Wl 1 Tk YU F WA @ S
%1 a9 UF =AfE v yfafeE | 4:50
=9l T B arEfas GHg whEd?
(a)08 : 10 (b) 01 : 40
(e) 04 : 50 (d) 10 : 20

(SSC Matric Level 05.05.2002)

A clock only with dots marking
3, 6,9, and 12 O’ clock postions
has been kept upside down in
front of a mirror. A person reads
the time in the reflection of the
clock as 10 : 20. What is the ac-
tual time?

wF uS ¥ 3, 6,9 ¥R 12 W fugd

(b)
(c)
(c)
(c)
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29.
30 (b (d)

TF g S WHA ®Y W gE e 8
TEAR g8 6 59 3 e oS &l ot €
A AH A FEER W 5 A 3 e
12 ¥ g@ @ W@ £ @ w3
Al WHA e Il o7

(a)9 P.M on Sunday

(b) 9 A.M on Monday

()9 A.M on Sunday

(d) 8 A.M on Sunday

34. (c)
35. (c)

#fwa € Ao ug ® uw <Uv & wnE
T S B a99T uE At <d ufafara
H 10:20 T @1 1 awefass T9g Fared?
(a)07 : 10 (b) 02 : 40
(c) 04 : 50 (d) 10 : 20

(SSC CGL 05.05.2002 )
A clock goes slow from mid-
night by 5 min. at the end of
the first hour, by 10 min. at the
end of the second hour, by 15
min. and the end of the 3rd
hour and so on. What will be the
time by this clock after 6
hours?
T "2 sfufy o uee =2 5 fie, g
B W #1 T S # e ¥ 10 fie
AN AEE S & o H 15 fiee oW e
ff T yFR gE & W 26 W AR
E F WA w7
(a)6: 00 am (b)S: 30 am
()6 :30 am (d)5:

(8SC CGL 05.05.2002 )
A clock goes fast by one minute
during the first hour, by two
minutes at the end of the sec-
ond hour, by 4 minutes at the
end of 3rd hour, by eight min-
utes by the end of 4th hour, and
so on. At the end of which hour,
will it be fast by just over sixty
minutes?

TF T Yed " § 1 fie 9w & Wt
|3o1

15 am
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21 91 fie amet =2 1 4 2 o € e
et 9 =g 52§ Fae: 4 fo9e a1 8
fie a9 = 9 81 ad =@ w W oem
werdl 81 fFE U2 & #= ¥ 98 60 fire
LE R i
(a) Fifth

(c) Seventh

(b) Sixth
(d) Eighth
(88C CGL 5.05.2002 )

A clock with only dots marking
3, 6, 9 and 12 positions has
been kept upside down in front
of a mirror. A person reads the
time in the reflection as 9.50.
What is the actual time?

Tk 9t § 3, 6,9 IR 12 W fug
dAfrd € ao "E H UH FU U F
U T S §) a9 U s gy
wfdfera # 9 : 50 =i w1 ¥ anwafaw
T adEd?
(@)2: 15
(c) 8 : 50

(b) 8 : 40
(d)4: 15
(SSC CGL 05.05.2002 )

A clock with only dots marking
3, 6, 9, and 12 positions has
been upside down in front of a
mirror. A person reads the
time in the reflection as
6 : 10 The real time is:

1. (b) 3. (a)
2. (o) 4. (b)

\
(b) as we know, (5 .
S & | g ﬂf) '“

Minute ha_n iny¥ minute = 6°

Minute hand in 60 second = 6°
firfe arelt g 60 fire § #ivr et &
= 6°

Then in 1 Sec/dl 1 ¥*v3 ¥

6
60

6
and In 29 sec = Ex 29 =2.9

I 5. {a}l 6

10.

w 9 § 3, 6,9 R 12 W fag
#fd & a0 U F TR SO 60 &
| TE S S| W U At S9

wfofa & 6 : 10 3w w1 81 aafew
TG A ?

(a) 06 : 50 (b) 12 : 40
()11 : 20 (d)6: 10

(SSC 12.05.2002)

A clock with only dot markings
3, 6, 9 and 12 positions has
been kept upside down in front

of a mirror. A person reads the 12.

time in the reflections of the
clock as 12 : 30 the actual that
will be

w9 § 3, 6,9 AR 12 W fuA
dfha € o1 Ut I TH TG U ®
e T W6 gl W U =t gy
wfafera § 12 : 30 39f @1 21 At
T gaqEd?

(a)12 O’ clock (b) 12 :30
(c)6 O’ clock (d)03 :45

(SSC 12.05. 0{;)

. The bus for Chennai léav

every 30 minutes from a::‘]sus
depot. The enquiry ' rk ,jgld a
passenger that s for
Chennai left 10 minutes ago,
and the ne 5 will leave at

)
m\s:;ﬁR KEY
PREV EAR QUESTION

(b

2

6
ngmﬁ—ang 2.9°

(c) as we know hour hand in
1 hour = 30°

© ach g 1% % ot € = 30°
In 60 minute = 30°

60 fiz ® = 30° 3.
In 3600 sec = 30°
3600 § & = 30°
30 1
Then, In 1 sec. ~3600 ~ 190°
30 1
d 1 9%ve § “m = 120°
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Cla)gs
f Qst
A2

() I 8. (b) I 9. (o) I

10 : 30 a.m. What was the time
when equiry clerk told this?
forell = feul 9 wfa 30 fre # == &
fore =9 et & qoaw fafes 3 ant §
#el & = & fae =9 10 foe v
T2 T T A e 99 gae 10:30
o Fperdt @ v quae it ® g8
TF WA B W oAr?
(a)10 : 20 a.m. (b) 10 : 10 a.m.
(c) 10 : 00 a.m. (d) 09 : 50 a.m.
(S8C LDC 28.10.2012)
If 50 minutes ago, it was 45
minutes past four O’ clock, how
many minute it until six O’
clock? 9

afe Soﬁﬁﬂ%éaﬂw 45 =
EEAEG 6aaﬁﬂ’ﬁqﬁaﬂﬁﬂzm%?
(b) 15
(d) 35

(SSC Constable (GD) 04.05,2002 )

10. (c) I 11. (b) I12. (c)

1
In 36 Sec = 120°

36 4FE § = T

(c) Minute hand in 1 sec. = 10°

foe Al 9§ 1 9%0e = 100

1
Then in 59 sec. -Ex 59 = 5.9°
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